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c = 3 × 108 m/s



Why are our eyes adapted to see the visible part of the 
spectrum instead of radio waves, x-rays, or something else?


A. It is an accident of evolution and easily could be 
different.


B. The other frequencies of light are too easily absorbed 
by the atmosphere to be useful.


C. Visible light has the appropriate velocity to be 
detected by biological systems.


D. The sun emits mostly visible light.











c = E/B











For any type of wave,


so for all EM waves,


where the speed of light c = 3.00 × 108 m/s.

v = fλ

c = fλ







































Will we observe a diffraction pattern from a single slit?


A. Light of different frequencies passing through the slit 
will interfere constructively or destructively 
depending on the angle.


B. Different wavelengths of light passing through the slit 
will interfere constructively or destructively 
depending on the angle.


C. Light coming from different parts of the same slit will 
interfere constructively or destructively.


D. No diffraction pattern should be seen.





Destructive interference for single slit:





for -1, +1, -2, +2, …

D sin θ = mλ

m =


